R[5 11 11 | SR N S

10
1.4

1.05

Ratio
=

0.95
0.2

08 6 4 20 2 4 6 8 10

|_\

[ pull of goverp parameter |
A s .
LOHE et %’é%‘a”‘ L

nes
onstam

1072

107

10

(@] J..L: M M M M
8 f R :
o N | ,';';',""','"""""""',""
r . e .
F H .
P S S B
I we: ! ®@o demes o0 : ede ® ®d¢

-10-8 6 -4 -2 0 2 4 6 8 10

=== DUM_CKF_TI_retran
|_ DOQM_mKFit_TT retrain

[ pull of @parameter |
107

102k

1073

10

1.05

Ratio
N

0.95
0.9

086 4 20 2 4 6 810

=

[ pull of dxy parameter

Ratio

09“1086420246810

[ pull of 6 parameter |

107}

1072

10°8 bt

Ratio
P
N

I
HN
trrrrprrrTT

- )

—086420246810

o
=R

[ pull of dz parameter |

107}

1072

Ratio

086 4-20 2 4 6 810

|
=t



	Contents
	Page 1


